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Typedef struct {
ElemType *Base; //#kJiKT5%l, Witk X i85t
int Top; [ FRTALE, TopEltgm F—MrEALE
int StackSize; e BRI IR/ (B R TT & ED top
} SeqStack; — -
SeqStack SStack; /7€ X kA& ;
D
C
top
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A% BRI P A SE B (PP £R)

(2) « BIE—I2R GRIAIEE)
bool Init_SeqStack(SeqStack &S, int Ssize=DefaultSize) // 25, X K/
{11 Bh7S 50 Bk i Fr 7 fi =[]

S.Base = ( ElemType *)malloc( Ssize*sizeof(ElemType) );

if (S.Base == NULL) return FALSE;  //#&[X 43 it 25 K

S.StackSize = Ssize: [ THE FR X KN
S.Top = 0; Il I 5 TI{E
return TURE;

}
WA R: Init_SeqStack( SStack, 50) FH:Hr: SStack Ntk &
HIEBRERN: O(1)

(3) . A=k

bool Empty SeqStack(SeqgStack *S) Il ¥&7F EFaEt
{ if (S->Top ==0) return TURE; //#%, iR [ E(H
else return FALSE; I 732, R [AMR

}
WHAFR: Empty_SeqStack (&SStack) ;  BEEEZERN: 0(1)



A% BRI P A SE B (PP £R)

(4) . AlBrFRi

bool Full_SeqStack(SeqStack *S) // ¥4r & 5%}
{ if (S->Top == S->StackSize) return TURE; K%, IR Bl EAH
else return FALSE; I ¥ A, 1R [BME

}
WHAR: Full_SeqStack (&SStack);  ByEEZEAN: O(1)

(5)  REFRRD

int Size SeqStack(SeqStack *S)  // ¥kAF E 4T
{ return S->Top: 1135 BB A 1o 2 2R

}
WHAR: Size SeqStack (&SStack);  BIEEZEHN: 0()
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(6) « BURTI LRE (B TN---GetTop#/E)

bool GetTop_ SeqStack(SeqStack *S, ElemType &x) // A E154El, TTHEALE
{
if (Empty_SeqStack(S) ) return FALSE; //3& [a] Bk T 25 e
else {
X = S->Base[S->Top-1] ; //AEZ ke, B IE
return TURE; [ ] BSURR T s g

¥
¥

WH 3 GetTop_SeqStack (&SStack,y) JFH1: SStack Nk &, y RNtk
TR E

FIEEREN: O(1)
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(7) « #HER (JEAF---Push#:1E)

bool Push_SeqStack(SeqStack *S, ElemType x) // &84t FifEfkicx

{
if (Full_SeqStack(S) ) return FALSE; /[ i, ABRIRVERIL
else {
S->Base[S->Top] = x;  /HERRTAZAifENTCE
S->Top++; I Vi FER AL B
return TURE; IR [B] N A )
}
}

WA R: Push _SeqStack (&SStack, 85) Hrf: SStack ik 2 &

FIAEREAN: OQ)
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(8) . Witk (iHHk---PopfiE)

bool Pop_SeqStack(SeqStack *S, ElemType &x) // #&ZF 3841, MK TER

{
if (Empty_SeqStack(S) ) return FALSE; //#%%%, WA #EAE Ik
else {
X = S->Base[S->Top-1]; /HUHAR Tt &
S->Top--; I EERR T B
return TURE; I3 [5] A B )
}
}

WHJTE: Pop_SeqStack (&SStack, y) H:H1:SStack Wik &,y NiREAE

FIAEREAN: OQ)
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(9« FZEx GERIAAF TR, BRZHD

bool Clear SeqStack(SeqStack *S) Il 7% g%t
{ S->Top=0; I B FR N0

return TURE; I 3R B35 78 B, HSER A R
}

VR F3\: Clear_SeqStack (&SStack); HEEZEAN: O(1)

(10D . MiEEER (WIBRITER, FRBERZIED

bool Delete SeqStack(SeqStack *S) Il #A2 =Fa
{ S->Top=0; G TGR

free(S->Base); IPRE TR [X AF-fit 2 (]

return TURE; /13 1] .y
}

WHA: Delete_SeqStack (&SStack) ;  HIEEZREN: 0O()
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(1) BNk E X (BERTFMES A BRI, Arkss mi)
Typedef struct {
Node *Top; IR e Er, LR REER FILTE4T; Node FEER 4 1
int StackSize; IEAHTER A C RN
} LinkStack; toR4
LinkStack LStack; //5€ X tkA &
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(2) + BIE—ZH (BeBIRIaE1L)

bool Init_LinkStack(LinkStack *S ) // 4% XAk 25 &

{
S->Top = NULL; NG AL R= ks
S->StackSize = 0 Il HHE i+ HvME
return TURE;

}

WWHAR: Init_LinkStack(&LStack) HH1: LStack A4k ik L&
HIEBREAN: O(1)

(3) . AWt

bool Empty_LinkStack(LinkStack *S) /] A8 &
{ if(S->Top == NULL) return TURE;  //#%%, &[0 E(H
else return FALSE; I ¥ 3EZ, R [AMR

}
W R: Empty LinkStack (&LStack);  ZEEZREARN: 0(1)
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(4) . REIRRAD

int Size_LinkStack(LinkStack *S) // #As & a4t
{ return S->StackSize; /iR EIFHIIAH KIITERAEL

¥
WA Size LinkStack (&LStack);  BEEREAN: 0(1)

(5) « BURTRTERME (BT ---GetTopifE)

bool GetTop_LinkStack(LinkStack *S, ElemType &x) //{& 2 EIE4E H Tt EAE
{ if (Empty_LinkStack(S)) return FALSE:; A G AR
else x = S->Top->data; IAEZS %, B TE
return TURE; [ B B T 2y
}
WHAR: GetTop_LinkStack (&LStack,y) . LStack N#kAE&E, yARkTT
EN
HIZBREAN: O(1)
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(6) . Btk (JEARK--Push#/E)

bool Push_LinkStack(LinkStack *S, ElemType x) // tRZE E184t, FfEtktR
{ Node *p;

p = (Node *)malloc( sizeof(Node) );

if (!p) return FALSE; //HiG 7> EC4h iR M, AFR$ERAERIK

p->data = X; IHEFT T RAEANTLR
p->next = S->Top;

S->Top=p;

S->StackSize++; I HEERR /)N

return TURE; IR TR NAR B

}

PR A: Push_LinkStack (&LStack, 85)
Horr, LStack kA&
HERRERN: 0(1) top : 1 171 - _ T

s _—3 N
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(7) Wtk (GAHER---Pop#fE)

bool Pop_LinkStack(LinkStack *S, ElemType &x) // #6455, FRk o & BUE
{ Node *p;
if (1S->Top ) return FALSE; /I #e#EAE SR

p = S->Top; IPR: R TG 2% 45 R R bR
S->Top = p->next;

X = p->data; I AR T T 2=
free(p); IPRETBURR T T 2 45 R
S->StackSize--; I FERR RN

return TURE; 3 EIWNG 355

}
WH A : Pop_LinkStack (&LStack,y) HA: LStack ¥#kZE&E

HERRERN: OQ)

top
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(8)  HZEx GFRIAAFLR, B4R,

bool Clear_LinkStack(LinkStack *S) Il ¥ = e ET
{ Node *p, *q;
p=S->Top; IR EEI I A
while(p){ I1EE AR AT
q=p; IERAFAF M o 46 R
p = p->next; IIpTeE 5 H%
free(q): TPRETHUARE I o 445 p 2 (]
}

S->Top = NULL: I B AR TR £ INULL
S->StackSize = 0; IIFR A ZE
return TURE: 11 31 [F13E 25 R

}

VR =: Clear LinkStack (&LStack) ;
HEERERN: 0(1)

2R
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vles of Stack Application

4. TN

To transform an decimal##l) number to
octonary(\##l]) number.

(N)1p = (M)g = (Bm-10m-2--- Byfig)g

=b, X d™l + Do xd™2 +... 4+ byx d + b, x O

:(bm-lx dm-2+bm_2X gms3 + ... + b1 )x d +b0

To determine if the parentheses In
expression are balanced and properly nested.

text edit:




